2A:

X XH -
o=

H2 XIS X2 ot

g
AShe & BMAEIer 2=

chl: (=CR-E))
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
HIZ X< X2 8,074,627 10,350,985 N2,276,358
= 5,925,000
= 2,149,627
HAXRL X HEE(FEXXSFNL/RALEAL) 8,048,000 10,320,000 A2,272,000
= 5,925,000
= 2,123,000
ASHeE & BHAEIE = 8,048,000 10,320,000 A2,272,000
= 5,925,000
=S 2,123,000
EZXSNE A=A 328,000 20,000 308,000
202 04l 28,000 20,000 8,000
01 2LHoIH 28,000 20,000 8,000
OBZXN SN A=A 28,000
307 el2to| & 200,000 200,000
04 QIHHAMAIH 2 £ 200,000 200,000
OBZEAl MAIFAS AFEXIA 200,000
308 AtXIEHMSOIE 100,000 100,000
13 SI[2SOHE & EAS A 100,000 100,000
OHZX< CHAHE ] M= 100,000
ASARE D184 AL X1 15,000 15,000 0
308 XXM SOIE 15,000 15,000
01 XN B2 LS 15,000 15,000
OAFSARE D184 A XA 15,000
EXMATARIEE S5 A (=1) 7,705,000 10,270,000 A\2,565,000
= 5,925,000
& 1,780,000
403 AXIEHMSAH=01d 7,705,000 10,270,000 2,565,000
= 5,925,000
= 1,780,000
01 XM A =2 E 7,705,000 10,270,000 A2,565,000
O=HASMAIREE A5 AL 7,705,000
= 5,925,000
= 1,780,000
HH2LZHI(HZ XA ) (O1EH/IIE 26,627 30,985 A4,358
Jl=2dsl 26,627 30,985 N4,358
FNE2F Jl=3Hl 26,627 30,985 A4,358
201 fet= 3| 14,849 18,768 A3,919
01 AtR2te|bl 14,849 18,768 23,919
FN2E AIR2te/| 14,849
202 04| 8,778 9,217 A439
01 SLHoIHI 8,778 9,217 A439
SAE2E U 8,778
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2 HZAGXS
Mz HHSHAY|(HZXLSXIKD) (DIEHDIE}
oel: D23l (S &2
- _ olE|
SA - B C(BH) - MISAY - BAS Ofl &k ot OE”E& HR=2

203 HR2=X 3,000 3,000

04 EASHA 2K 3,000 3,000

©15921 0|at 250,000 x 128 3,000
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A HZXSX2 10
H: ZA FEHIY XA RS - SIS LU X /HIEH KL XHH)
SI9l: XIGHRIE JHE & A FBIXS KA (NS RIFAIEHISE S H) CCRL
2 - IE!
SN - BB SRI(SI) - NISAY - BES O]t e HlRE2
IHIZ X1 K& 1 28,000 28,000
A F=ETSE XA RS (A - SAIILL X/l 28,000 28,000 0
INEDGED/EY
KIGHAHF OHe & 2tab FEXS XA (KSR A 28,000 28,000 0
HSg3H)
AAEAL AAGH HALKIR 28,000 28,000 0
308 RXISHMSOIH 28,000 28,000
01 IXSHHBLERS 28,000 28,000
O&AMAL M HALKIR 28,000
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